IE5203 Decision Modeling & Risk Analysis
Solutions to Chapter 9 Exercises

P9.1

Computing the main criteria weights w.r.t. Goal:

User- Software
- SRl friendliness availability e .
Cost 1 1/4 1/5 0.09739 0.09739
User-friendliness 4 1 1/2 0.33307 0.33307
Software availability 5 2 1 0.56954 0.56954
Amax = 3.0246 CR=0.0212<0.10

Computing the Alternative local weights w.r.t. each main criterion:

Cost Computer | | Computer 2 Computer 3 w (exact) w (RGM)
Computer 1 1 3 5 0.64833 0.64833
Computer 2 1/3 1 2 0.22965 0.22965
Computer 3 1/5 1/2 1 0.12202 0.12202

A max = 3.0037 CR =0.00318 <0.10
User-friendliness | Computer 1 | Computer 2 Computer 3 w (exact) w (RGM)
Computer 1 1 1/3 1/2 0.14662 0.14662
Computer 2 3 1 5 0.65707 0.65707
Computer 3 2 1/5 1 0.19631 0.19631

A max = 3.16323 CR =0.14072 > 0.10
Software
Axailubility Computer 1 Computer 2 Computer 3 w (exact) w (RGM)
Computer 1 1 1/3 1/7 0.08096 0.08096
Computer 2 3 1 1/5 0.18839 0.18839
Computer 3 7 5 1 0.73064 0.73064

A max = 3.06489 CR =0.05594 <0.10

Global Weights:

Alternative w (exact) w (RGM)
Computer 1 0.15809 0.15809
Computer 2 0.34851 0.34851
Computer 3 0.49340 0.49340

Note that the RGM approximation method gives very accurate results because the matrixes are all of
size 3. This will not be so when the matrix sizes are large.

(a) The company should choose Computer 3 which has the highest global weight.
(b) Only the pair-wise comparison matrix for “user friendliness” has CR > 10%.

(o) Transitivity relation is satisfied for all matrices.
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P9.2

(a) Computing the main criteria weights:
Dependability | Qualification | Experience Quality w
Dependability 1 2 3 4 0.46730
Qualification 1/2 1 2 3 0.27718
Experience 1/3 1/2 1 2 0.16009
Quality 1/4 1/3 1/2 1 0.09543
A max =4.03098, CR=0.011475<0.10
The weights for the four criteria are:
e Dependability =0.46730
e Qualification =0.27718
e Experience =0.16009
e Quality =0.09543
Weights for Ratings under Dependability:
Outstanding | Average Unsatisfactory w Idealized
Outstanding 1 3 7 0.66942 1
Average 1/3 1 3 0.24264 0.36246
Unsatisfactory 1/7 1/3 1 0.08795 0.13138

A max = 3.00702, CR =0.006053 <0.1

Weights for Ratings under Qualification:

Postgraduate | Graduate | Non-graduate w Idealized
Postgraduate 1 3 5 0.63699 1
Graduate 1/3 1 3 0.25828 0.40548
Non-graduate 1/5 1/3 1 0.10473 0.16441

A max = 3.03851, CR=0.033199 <0.1
Weights for Ratings under Experience:

Exceptional Average Little w Idealized
Exceptional 1 5 9 0.75140 1
Average 1/5 1 3 0.17818 0.23713
Little 1/9 1/3 1 0.07042 0.09371

Weights for Ratings under Quality:

A max = 3.02906, CR=0.025055 < 0.1

Outstanding | Average | Below average w Idealized
Outstanding 1 5 9 0.75140 1
Average 1/5 1 3 0.17818 0.23713
Below average 1/9 1/3 1 0.07042 0.09371
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A max = 3.02906, CR=0.025055 < 0.1
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The Rating System:

Value to Company

Dependability Qualification
(0.46730) (0.27718)
— Outstanding Postgraduate
€] (1
— Average — Graduate
(0.36246) (0.40548)
'— Unsatisfactory Non-graduate
(0.13138) (0.16441)

Experience Quality
(0.16009) (0.09543)
— Exceptional L Outstanding
€] €]
__Average | Average
(0.23713) (0.23713)
— Little - Below average
(0.09371)

(0.09371)

(b) Applying the rating systems to John and Bill:
Ratings under Criterion Overall
Candidate Dependability Qualification Experience Quality Rating
(0.46730) (0.27718) (0.16009) (0.09543)
Average Graduate Average Outstanding
sl (0.36246) (0.40548) (0.23713) 1) Lalas
. Outstanding Non-graduate Exceptional Average
Bill (1) (0.16441) (1) (0.23713) 0.6956

John’s overall rating

= 0.46730 (0.36246) + 0.27718 (0.40548) + 0.16009 (0.23713) + 0.09543 (1)
=0.41516

=0.69559

Bill’s overall rating

= 0.46730 (1) + 0.27718 (0.16441) + 0.16009 (1) + 0.09543 (0.23713)
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Hence Bill should get a higher pay increase than John.
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P9.3

(a) With only two alternatives (Investments 1 and 2)

Conclusion: Investment 1 is preferred to Investment 2.

(b) With 3 alternatives (Investments 1, 2, & 3)

Goal Expected Return Degree of Risk Weight
Expected Return 1 1 0.5
Degree of Risk 1 1 0.5

Amax =2, CR=0 <0.1
Expected Return Investment 1 Investment 2 Weight
Investment 1 1 1/2 0.3333
Investment 2 2 | 0.6667
Amax =2, CR=0 <0.1
Degree of Risk Investment 1 Investment 2 Weight
Investment 1 1 3 0.7500
Investment 2 1/3 1 0.2500
Amax =2, CR=0 <0.1
Alternative Global Weight
Investment 1 0.54167
Investment 2 0.45833

Expected Return | Investment 1 | Investment2 | Investment 3 Weight
Investment 1 1 12 4 0.307692
Investment 2 2 1 8 0.615385
Investment 3 1/4 1/8 1 0.076923

7\4max = 3, CR:O < 01

e Conclusion: Investment 2 is now preferred to Investment 1.

Degree of Risk Investment 1 | Investment 2 | Investment 3 Weight
Investment 1 1 3 1/2 0.3
Investment 2 1/3 1 1/6 0.1
Investment 3 2 6 1 0.6

Amax =3, CR=0 <0.1
Alternative Global Weight
Investment 1 0.303846
Investment 2 0.357692
Investment 3 0.338462

(c) Rank Reversal between Investment 1 and Investment 2 has occurred with the introduction of
Investment 3 although the pairwise comparison sub-matrices for the first two alternatives have

not changed.
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(d) Using the Ideal Mode
Goal Expected Return | Degree of Risk Weight
Expected Return 1 1 0.5
Degree of Risk 1 1 0.5

With only two alternatives (Investments 1 and 2)

max — 2, CR:O < Ol

Expected Return Investment 1 Investment 2 Distributive Ideal
Investment 1 1 1/2 0.3333 0.5000
Investment 2 2 | 0.6667 1.0000
Degree of Risk Investment 1 Investment 2 Distributive Ideal
Investment 1 1 3 0.7500 1.0000
Investment 2 1/3 1 0.2500 0.3333
e (Global weights under Ideal Mode before normalization
Alternative Global Weight
Investment 1 0.7500
Investment 2 0.6667
e Conclusion: Investment 1 is preferred to Investment 2 under Ideal Mode.
With 3 alternatives (Investments 1, 2, & 3)
Expected Return | Investment 1 | Investment 2 | Investment 3 | Distributive Ideal
Investment 1 1 1/2 4 0.307692 0.5
Investment 2 2 | 8 0.615385 1
Investment 3 1/4 1/8 1 0.076923 0.125
Degree of Risk Investment 1 | Investment 2 | Investment 3 | Distributive Ideal
Investment 1 1 3 1/2 0.3 0.5
Investment 2 1/3 1 1/6 0.1 0.16667
Investment 3 2 6 | 0.6 |
e Global weights under Ideal Mode before normalization
Alternative Global Weight
Investment 1 0.5000
Investment 2 0.5833
Investment 3 0.5625
e Investment 2 is now preferred to Investment 1.
e Ideal Mode did not prevent rank reversal for this problem.
e Hence Ideal model does not guarantee rank reversal.
DA (2024) soln-09-5



